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1.4 Solving Systems by Substitution

Recall: Solving a system of equations means...
Finding the point of ‘ ol
intersection of the lines. % //

It is the only point where
both lines have the same

x-value and y-value. \

Drawbacks of solving by graphing...

e not always accurate e time consuming
What's so great about solving algebraically? -
e gives exact values e less time / less space

Ex. 1 Rogers charges $35/month plus $10 for every extra Gb.
Bell charges $40/month plus $8 for every extra Gb. When are
they the same price? Solve without graphing.

L.o\-\ C "’\‘M& cost ndollas

“og ke Houd G

‘034-33 -

83 +4( WANT TO T 1nD e
THEY fRe THE SAmE!

CQ:C‘B

I

@CQ
Oc

1"

8

109 +35 =%g+40
fog -23 = Ho-3s

2y =% 5Sob 92 2\ )
S "’%/erﬁ(—ghss
Tas+is

ﬂ\k le& are e?\)q\ = éo
@ b0 Vhen vsing. 25GB

Ex. 2 How would you solve ?
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THE SUBSTITUTION METHOD:

éte$+
1. Isolate a variable in one equation (pick thei%si; one)

2. Substitute to create an equation with only one variable.

3. Solve the equation.

4. Substitute the solved variable into the equation from #1 to

determine the value of the other variable.

5. Write a conclusion.

6. (Check) - formal if asked, otherwise complete a mental
check.
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Ex. 3 Solve using the substitution method.

a) x+3y=-4 (D b) 5a+36=10 (D
2x-3y=1 D 2a-b=4 (D
CD’X"-‘-H da-H= b?-:lo\-’-f
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SPECIAL CASES
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Working with fractions...
pg. 26 #4a)
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’o‘.\,\-i-o® (/63
S(3"3g3+qg’=g Y+ % =23
'S ~10g+4y = x <2-3
-Gg-:.s? = %-z
I 5 S
3



1.4 Solving by Substitution.notebook September 14, 2015

The following three lines all intersect at one point. Find the
coordinates of the point of intersection and the value of k.
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TEAMWORK

Together Each Achieves More
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Your Yorn
p. 26 #4bd, 5ace, 12
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